



4.1

$$14. \begin{cases} 2x + 3y = 6 \\ y = -\frac{2}{3}x + 1 \end{cases}$$

$$2x + 3\left(-\frac{2}{3}x + 1\right) = 6$$

$$2x - 2x + 3 = 6$$

$$3 = 6, \text{ a contradiction}$$

$\Rightarrow$  no solution

this is an  
inconsistent  
system of equations

parallel lines

$$16. \begin{cases} 3x - 2y = 6 \\ y = \frac{3}{2}x - 3 \end{cases}$$

$$3x - 2\left(\frac{3}{2}x - 3\right) = 6$$

$$3x - 3x + 6 = 6$$

$$6 = 6, \text{ an identity}$$

$\Rightarrow$  infinitely many  
solutions

these equations  
represent the  
same line

dependent  
system

$$\left(x, \frac{3}{2}x - 3\right)$$

#### 4.2 Solving Systems of Equations by the Elimination Method

(Addition Method)

Rules: We can...

1. multiply an equation by a non-zero constant
2. interchange any 2 equations
3. add a non-zero multiple of any equation to another

$$16. \begin{cases} 3x + 4y = 25 \\ (2x + y = 10)(-4) \end{cases}$$

Multiplying 2<sup>nd</sup> equation by  $-4$  yields  
the equivalent system:

$$\begin{array}{r} 3x + 4y = 25 \\ +(-8x - 4y = -40) \\ \hline \end{array}$$

$$-5x = -15$$

$$x = 3$$

$$\boxed{(3, 4)}$$

$$2(3) + y = 10$$

$$6 + y = 10$$

$$y = 4$$

$$14. \begin{cases} 3x + 6y = 7 & (2) \\ 2x + 4y = 5 & (-3) \end{cases}$$

$$\begin{aligned} \Rightarrow 6x + 12y &= 14 \\ + -6x - 12y &= -15 \\ \hline 0 &= -1 \end{aligned}$$

↙ contradiction

no solution

$$26. \begin{cases} 3x + 3y = y + 1 \\ x + 3y = 9 - x \end{cases}$$

$$\begin{aligned} \Rightarrow (3x + 2y = 1)(2) &\Rightarrow 6x + 4y = 2 \\ (2x + 3y = 9)(-3) &+ -6x - 9y = -27 \\ \hline &-5y = -25 \\ &y = 5 \end{aligned}$$

$$\begin{aligned} 3x + 2(5) &= 1 \\ 3x + 10 &= 1 \\ 3x &= -9 \\ x &= -3 \end{aligned}$$

(-3, 5)